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1. [Ordinary Differential Equations] (20%)

1+ y? +3x%y

a) Solve y'=
@ d 1-2xy—x’

(10%)

(b) Solve y"+4y=cos2x by undetermined coefficients and variation of parameters respectively.
(10%)

2. [Vector Calculus) (20%)
Evaluate H(curlﬁ)-ﬁ da, F=[y*, -x*, 0], S:x*+)*<1, z=1.
N

(a) directly for given F and S (10%) ; (b) verify “Stokes’s Theorem”. (10%)

3. [Laplace Transform] (20%)
(a) Write the following function using step functions, and find its Laplace transform.

2 O<t<r
f(x)=490 , zm<t<2mw (10%)
sint t>2rx

-5 -28 -3s

e’ e e
x* P+t (s+2)°

(b) Find the inverse transform f(¢) of F(s) == (10%)
s

4. [Fourier Analysis] (15%)
(a) Find the Fourier series of the function f(x)  (10%)

-k —-7r<x<0
f(X)= ) ) f(x'*'zﬂ'):f(x)
k= O<x<nm
(b) Show that, l—l+-1-—-1—+_...=.7.z. (5%)
3 5 7 4

5. [Partial Differential Equation) (15%)
Solve the following PDE using the Method of Separation of Variables.

2 2
%zcza—?, O<x<ow, t>0
ot ox

boundary conditions :  ¢(0,£)=0, ¢(,t) =bounded
initial conditions :  ¢(x,0) = f(x), ¢,(x,0)= g(x)
6. [Complex Analysis] (10%)

sin®t dt
t2

Evaluate J _w by residue theory.

BAFHMAME



B b RE 108 245
ALERTEER LS RRA

FBEBER HH2 [HrirmEtErma])

—FEEEFR—

2R 100 548

FRMBENFFHERE ERFEE - 3w~ X FAMEXER
B (F) XBREERB - RAEE BRABREES > 4ok R ILEP
HERABRE - ~

BERAMRAE - BEEBVE)EE BBERIE T THESREE &
EFZHEXTFTER  RA-BER (F) ~ FHEERMITESSE) - HA
%%m&mfﬁgﬁﬁ’xﬁ%%%&%’%ﬁmwgo

ERFHU 2B ED  RATHERASER (F) ot R4EH 2B &
£ R ABRTHRRALHERBEREEE A2 024 A7
B o

BEAE (F) BREFFEXRE  REVE B3R R BB A BIEERE
B FARAREBLAML BEERERALELENIEAIETRY
% e
TEEATEMFRARERNPAZELE o ST ER o e~ 3
FERY)  BRFHFAEFEN DRRU B E SR A by ig s
E-FERATFZELEBEN PR (0EHLS - THEE - STFTHRE) A
3 o

AMERERS (F) BEL80E , REEEZNRBEUSSHE,
AEREHEIE , EEEIEHEERRERES.

 ESEREIRBEEERSHAER R ERE,




BHarfhR% 108 L5 EHALEALTHER LA RHA

#HB A Gt $ (BT hATgERE] A * 4569002
XA BAMINRE "Ton, EA IR g~ HiErH) (FEFHRA) #2811

B 0 ME A0 & B BRGNS R K

1. (10%) #3neAdTil TmENeymoE ) £ TRV E, » LEL AR —EHFRA -

2. (10%) 3| bR TSRk, shwAlikeE > BEMW T ol B THEENT, e
1%

3. (10%) 73R BT 4ty T @RS b TEE3 ) EEiR e LARA "EHREM & T/
WARE ) Z MM 14 -

4. (10%) #riR AT QIR AT ey TR R ) ~ TTMMRYE ) B TRkmeeR, -8
3,08 38 ok 44 I g8 B SR K r B9 44 o

o3y ¢ FH AR 60 o 0 AR A AR D EOR AR U BLA T B A

5. (20%) 75 B #% 5 o T
(@) (10%) $#4EAT % & FFBR » £50E G 4K RARIHIA 12.2% © Bk 60 44
AR 0 U QA B S B 607K SR A AR P s  BARRE
(b) (10%) ARAF 405t B MRS B B4 AR B A 3% FA KR 123 dod o IBRARIE £ 4 21 dody » MM
Pt — M BB E R 15 ABO AR 0 R B T3 R A 120 5 126 Jofr 21 s
RN CELES P Y PN

6. (20%) # M1 $8 & Fo} SRR RAR E
(a) (10%) — B F A% 24 WA IE 15 R85 0 AR 40B S — RO T AR -
31 A 95% #4145 o K B4 3B — Bk 69 T34 o

41.53]19.83|15.18| 50.4 [29.97|58.42|21.63(121.17 5.49 | 54.87| 13.1 |87.78]19.32|54.83| 13.89

(b) (10%) F A A E—FE L > AR NEF 50 8> RO L FIHHEEMS 264 R -
— B BT AR R AT AR HE 20 AR M R EE e 50 ey PR E
BEME A 262.3 R o BRI £ A 3R o L p fEik 0 £ 0=0.01 &9FAFKET > REFHZL
A AP IBRER T I 264 R?
7. (20%) # M @4 547
ERGRATOCMETMHAAKEESFRFRZEMA - AP SN — @ik
HRum T R ©

ZEFH K 1 5 3 10 7 6
#2425 () 500 100 | 300 50 75 80

(a) (6%) TRt 48 B B ~ TR Al ~ P vk Aok - ATt r 63T LA R A ¢
AE XV~ X)CY) .
= ' n B R e A R
= oG o | R R
(b) (5%) 4= 0=0.05 = F » #FEABHGEK (AKX T)REZEBFE LT HMEMEN
AR LT UL U S R TR
(0) (%) #% i BH B0 IF ALY = a + bY » B ETAMBEE 4 £ R AW FBREMW - a L b oA
K4 TF :
4= CNEXD-GOEAN , _ nEan-GOEY)
- n(Lx2)—(Lx)? n(X x2)—~(Tx)?

t=1rX

n %y A B S0 18

BRRAFELEYAE



B3 LR % 108 B9 B AR+ A L R348 4 £ RBA

#FBLEHE R (B iEtErmal 3% - 459002
MAMBRMERL "T ) ERAMES (B -~ SEXRH#H) (FL¥HA) H2B¥28
z | 000 001 002 003 004 085 006 007  0.08 009

0.8 | 0.5000 0.5040 0.5080 0.512p 0.5150 0.519% 0.5233 0.5279 0.5319 0.5359
6.1 | 0.5398 0.5433 0.5478 0.5517 0.5557 0.5595 0.5636 Q.5675 0.5714 0.5753
0.2 | 0.5783 0.5832 0.5871 0.5910 0.5843 13,5987 0.6026 0.606% 1.6103 0.6141
a3 | 06179 0.6217 0,6255 06293 0.6331 0.6353 0.5406 0.6443 0.6430 0.6517
0.4 | 0.6554 0.6591 D.6628 0.666% 0.,5700 D.5735 0.6772 0.6808 0.6844 0.6879
a5 0.6915 0.5950 0.5985 0.7119 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
o6 | 0.7257 07291 0.7324 D.7357 0.7389 07422 0.745% 0.7486 0.7517 0.75499
0.F | 0.7580 0.7611 0.5542 0.7673 0,774 0.¥734 0.7764 Q.7794 0.7823 1.7852
0.8 | 0.7881 0.7310 10,7935 0.7967 0. 7995 0.8023 0,8051 0.8078 1.8106 0.8133
Q.9 | Q.8159 0.8188 0.5212 0.8238 0.8264 0.8289 0.8315 10.8340 (.8355 0.8389
1.6 | 08413 0.8438 n.8451 0.8485 0.8508 0.8531 1.855% 0.8577 0.8599 0.8521
11| 0.5643 0.8665 1.8636 0.8708 0.8725 0.8745 0.8770 0.8790 0.8810 .8830
1.2 | 0.8848 0.8869 1.§338 D0.8907 0.85925 0.3944 0.8962 0.8980 U.8997F 02015
13| 09032 0.9049 0.8068 0.9082 0.qae9 0.,9115 10,9131 0.9147F .9152 0.9177
14 | 09182 0.9207 0,9222 0.9235 10,9251 0.9265 0.9279 0,9292 1.,8306 0.9319
1.5 | 08332 0.9345 0.9357 0,8370 0.8382 0.9394 0.,9408 0.9418 0.8429 0.9441
1.6 | 0.9452 0.2463 0.9474 0.946% 0.2435 0.9505 0.9515 0.9525 0.8535 0.9545
1.7 | 0.9554 0.9564 0.9573 0.9582 10,9591 0.8599 0.9508 1.9615 0.5825 0.9533
1.8 | 0.941 0.9649 0.9656 D.9664 02571 0.95678 1.9586 0.9653 0.8695 0.8706
1.9 | 0.9713 0.9719 0.9725 0.9732 Q.5¥38 0.9744 0.9750 0.9756 1.89761 0.9757
20 [ 0.9772 0.9778 0.9733 0.9788 0.8793 0.9793 0.9803 0.9808 0.9812 0.9817
41 | Q9821 0.9846 0.9330 0.8834 0.9838 0.9332 0.9846 0.8850 0.8854 0.9857
22 | 0.9861 .9664 .5858 0.9871 0.9875 0.9878 17,9881 1.9884 0,988% 0. 9a0
23 | 0.9893 0,98965 1,989 0.9901 0,9504 0.9906 13,9309 1.9911 0.9913 7.9915
A4 10,9218 0.9920 0.9922 0.9924 1.8927 0.9939 0.9331 0.9933 0.9934 0.9935
25 | 0.9935 3.9540 0.9541 (.9943 0.8945 1,994 0.9948 0.994% 0.9951 0.9952
26 | 0,9953 0,9955 0.9956 0,9957 0.5958 0.9960 0.9961 0.2952 0.995% 0.9954
2 | 0.9955 0.9965 0,997 0.9968 0,9389 10,9970 0.99%1 0.9972 01,9973 0.9974
2.8 | 0.9974 0.9975 3.9975 Q.9977 0,9977 0.59973 0.9579 0.9575 10.9980 0.9581
25 | 0.9981 09982 0.9982 0.9983 1.9984 1.9934 10.9985 0.9985 1,9985 0,9986

t Table

cum. prob t50 trs t g0 Les g t 35 tors tgg T 95 ¥ 509 ¥ 9995
one-tail 0.50 0.25 0.20 0.15 0.10 0.05 0.025 0.01 0.005 0.001 0.0005

two-tails 1.00 0.50 0.40 0.30 0.20 0.10 0.05 0.02 0.01 0.002 0.001

df
1 0.000 1.000 1.376 1.863 3.078 6.314 12,71 31.82 63.66 31831 63662

2| 0000 0816 1061 1386  1.886 2920 4303 6965 9925 22327 31509
3| 0000 0765 0978 1250  1.638 2353  3.182 4541 = 5841 10215 12.924
4 0.000 0741 0941 1190 1533 2132 2776 3747 4604  7.473 8610
5 0.000 0.920  1.156  1.476

5

11 0.000 0.697 0.876 1.088 1.363 1.796 2718 3.106 4.025 4.437
12 0.000 0.695 0.873 1.083 1.356 1.782 2.179 2.681 3.055 3.930 4318
13 0.000 0.694 0.870 1.079 1.350 1.771 2.160 2650 3.012 3.852 4.221
14 0.000 0.692 0.868 1.076 1.345 1.761 2.145 2624 2.977 3.787 4.140
15 0.000 0.691 0.866 1.074 1.341 1.753 2.131 2.602 2.947 3.733 4.073
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